CIELABUG triangle lightness t*
o Yac=Yw - nc=100,

 CiELABUG =66 (Y/Y) 3216 (Y,=18, Y,o/100<Y<=Y,0)
t*(3.6)=23,t* ,(18)=50,*,/(90)=97

t*9=96,50,y=3,0, 14=1/3,0=0,3",
t*1=50,00 §,=65,49 D= -15,J
t3,6722,72,t4,=50,00 Y <18

t*,=50,00 m,=50,24
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Ya=3.6  Yu=90
Iog(AY) CIELABuU6
AY tristimulus value difference

Yac=Yw - nc=100,

 CiELABUG =66 (Y/Y) V3016 (Y,=18, Y,o/100<Y<=Y,c)
log(dY) = (1/3,0) 1og[3,0¢,/65)] + [1-(1/3,0)] log¥)
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Y3156 Y.-s5, dY=4,58
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1v,=18
1 Yw=90

Yn=3.6

log (AY/Y) CIELABU6
_ tristimulus value sensitivity
SOV Yoc=Yw - nc=100,
 CiELABUG =66 (Y/Y) 3016 (Y,=18, Y,o/100<Y<=Y,o)
log(dY/Y)= log[3,0(Y,/65)] - (1/3,0) log{/Y,,)
= (1/3,0) log[3,0¢,/65)] - (1/3,0) log)
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log(dY/Y)=-0,53 M= D50~
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1y,=18

1 Y=90
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log (Y/AY)
C,=(Y/AY)

CIELABuU6
tristimulus value contrast
Yoc=Yw - nc=100,
 CiELABUG =66 (Y/Y)3-16  (Y,=18, Y,o/100<Y<=Y,o)
log(Y/dY)= - log[3,0/,/65)] + (1/3,0) log{/Y,))

= - (1/3,0) log[3,0¢,/65)] + (1/3,0) logy)

1
(Y/dY}5=6,71,y=3,0, 1¥=1/3,0=0,33
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Yw=90
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CIELABUG relative triangle lightness t*/t*,,
e, Yoc=Yw - nc=100,

t* CiELABUG =66 (Y/Y) 30-16  (¥,=18, Y,/ 1002Y<=Y,)
t(3,6)=23,t* ,(18)=50,*,,(90)=97

togt =L, 93 v=3,0, 1§=1/7,0=0 33
tr gt o 49 49
3ty :0 45 t,=50,00 =17,

application
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Y,=18
Yy=90

/=1, m=-0,35 *
i L*,=49 t*,=50
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CIELABUS relative
tristimulus value difference

Yoe=Yw - nc=100,

t* CiELABUG =66 (Y/Y) 3016 (¥,=18, Y,/ 1002Y<=Y,)
log(dY/dY,) = [1-(1/3,0)] log¥{/Y,,)

log(AY/AY,)
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dYeg/dY,=2,92 y—3 0 1y=1/3,0=0,33
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-
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log [(AY/Y) I (AYIY)] CIELABUS relative
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SIS =@YMIAYNY), D S P oY
t* CiELABUG =66 (Y/Y) 30-16  (¥,=18, Y,o/1002Y<=Y,)
log[(dY/YV)/(dY/Y),] = - (1/3,0) log¥/Y,,)

(dY/Y)o/(dY/Y)=0,58,y=
(dY/Y)g/(dY/Y,
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=100,
t* CiELABUG =66 (Y/Y)Y30-16  (¥,=18, Y,o/1002Y<=Y,)
logI(Y/dY)/(Y/dY),] = (1/3,0) loglY/Y,)

(Y/dY}/(Y/dY)=1,70,y=3,0, 1§=1/3,0=0,33
(Y/dY)g/(Y/dY)=1,00 §=65,49 D;=-15,49
(Y/dY} g/(Y/dY)=0,58 Y,=18 dY=4,58
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